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Question: 1

What are two functions of the SGSN operator policy? (Choose two.)

A. limited APN configuration

B. assingning of privileges to system operators
C. extended QoS control

D. setting of the number of system context

E. handing of only one type of call

F. disabling of feature sets per IMSI range

Answer: B,F

Question: 2

Which two of the following are characteristics of high availability task? (Choose two)

A. It is responsible for strong configuration data for the applications that run on the system.

B. It is found on the management module only.

C. It runs only on the active SMC.

D. It provides the system with the ability to set, retrieve, and be notified of system configuration.
E. It triggers an event to the RCT subsystem to take corrective action.

F. It is reponsible for maintaining the operational state of tasks in the system

G. It is responsible for executing a recovery action for any failure that occurs in the system.

Answer: E,G

Question: 3

In what two ways to subscribe-aware stateful firewalls compliment internet firewalls? (Choose two)

A. Resolve the stateless issue with internet firewalls

B. Enables user-specific event correlation

C. Provides QoS support on a per-subscriber or per-group basais

D. Provides granular support per-subscriber or per-group firewall rules
E. Enables user-specific throttling

Answer: B,D

Question: 4

Which of these is characteristic of the GTPP group configuration?

A. The GTPP group configuration submenu allows you to specify a set behavior parameters for the
CDR collection and transmission activities.
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B. When configuring communication to a CGP, up to eight servers can be configured in the GTPP
group.

C. Only five group can be created in addition to the default group.

D. GTPP Groups are not configured in a context.

Answer: A
Question: 5
Which feature is one of the main features offered by Cisco Smart Services?
A. Lower operational costs
B. Remote remediation
C. Strengthened IT security
D. Accelerated time to market
Answer: B
Question: 6
Which of the following is one of the three identifiers of the area ID?
A.TAC
B. SWG
C. MME
D. GUTI
Answer: C
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